2017-12-27 Paatospeli Lopputulos

3 poytdd, 6 paria. Jakoméadra: 20. Keski: 40. Vertailu.

Sija Pari Pisteet % Vert Nimi Kerho
1 4 45 56,3 1 Merja Molsi - Terhi Méntyla Salon Bk
5 45 56,3 1 Timo Alanko - Ilmo Arosilta Salon Bk
3 3 42 52,5 Isto Valkama - Jari Hilska Salon Bk
4 1 41 51,3 Johanna Helenius - Lasse Saloranta Salon Bk
5 2 37 46,3 Kalle Kuisma - Matti Alanko Salon Bk
6 6 30 37,5 Riitta-Liisa Mékela - Antti Luoto Salon Bk
Jako: 1 Jako: 2 Jako: 3
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
61 3N E -1 vK 50 40 24 24 W -1 v4 50 31 35 46 W = vA -620 31
24 34 W = a3 -110 13 35 34 W-19v4 50 31 61 44 W = o4 -620 31
35 34 W = #5 -110 13 61 3a W1 v4 -170 04 24 1ax W +3 e2 760 04
Jako: 4 Jako: 5 Jako: 6
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
24 2v N +1 ¢7 140 40 43 3¢ W-2v3 100 40 62 44 N +2 vA 480 40
61 2v N = ¢4 110 22 15 Pass 0 22 15 480 N -2 &3 -100 22
35 34 W = v4 -110 04 62 3% E = ol -110 04 43 3w S -3 6A -150 04
Jako: 7 Jako: 8 Jako: 9
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
62 IN W -2 aQ 200 40 15 49 E 2 &J 480 31 63 3v E +1 %8 -170 40
15 IN W -1 aA 100 22 62 4v E +2 o7 480 31 54 3v E +2 ¢7 200 22
43 1IN W +1 a8 -120 04 43 3N W+3 w7 490 04 21 4v E +1 o7 -650 04
Jako: 10 Jako: 11 Jako: 12
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
21 24 S +2 ¢6 170 40 21 24 S = 8 90 40 21 3¢ S +2 a3 150 31
54 24 S +1 ¢2 140 22 54 3N S -1 a9 S50 13 54 4¢ S +1 a5 150 31
63 34 S -1 ¢6 -100 04 63 2¢ S -1 49 S50 13 63 3a E -2 ¢A 100 04
Jako: 13 Jako: 14 Jako: 15
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
13 24 E -3 vJ 300 40 52 2v S = &3 110 40 13 2ax N +1 ¢A 870 40
52 3N E -2 v6 200 22 13 2& W -2 vA 100 22 52 44 W -1 a4 50 13
64 1a E +2 vK -140 04 64 4v S -1 «Q S50 04 64 44 W -1 &9 50 13
Jako: 16 Jako: 17 Jako: 18
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
13 1« E +3 ¥8 -130 40 41 3v N = &A 140 40 65 4v N +1 a3 650 40
52 3& E +3 a2 -170 22 32 44 E +2 vQ -170 22 41 49 N = &7 620 22
64 2v E +3 a9 200 04 65 5« E = vQ 400 04 32 5ex E -3 vA 500 04
Jako: 19 Jako: 20
Pari Sit LK Tulos Pisteet | Pari Sit LK Tulos Pisteet
32 4ex W -3 a2 800 40 32 2vx W -1 ¢3 200 40
41 24 S +1 vA 140 22 41 IN S +2 a4 150 22
65 44 S -3 vA -150 04 65 3% N +1 6 130 04

SBL 0302 Salon Bridgekerho



